2 Addition and Subtraction

Solve the following questions with the help of

addition
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Find the missing numbers

5 2 9 94
+ 58 +6 3 +17
153 _ 1522 3_1

712 _64 968
+ 7 +5 8 +2 3

9 5 83 _ 1.0_

4 7 _82 63 _
+ 452 + 61 + 68
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Add the following numbers

1a. 495 + 4 = 1b.
2a. 761 + 8 = 2 b.
3a. 221 +2 = 3 b.
4a. 382 +9 = 4 b.
5a. 864 + 8 = 5 b.
6a. 532 + 2 = 6 b.
7a. 802 +1 = 7 b.
8a. 773 +1 = 8b
9a. 703 +3 = 9b
10a. 913 + 9 = 10 b.

357 + 2

825 + 5

457 + 5

343 + 8

861 +5

855 +1

896 + 4

684 +7 =

521 + 2 =

203 + 8 =

Date
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7

Cross-Number Puzzle
Subtract. Compete the puzzle.

Across Down
2. 3,016 1. 6,429 3. 9,145 4. 9,142 5. 58,142
- 1,209 - 3,298 -2,189 -1,381 -13,098

6. 246,342 7- 76,418 10- 31,64213 814,603
- 156,129 - 39,291 -18,945 -148,231

8. 64,293
- 28,318 .

o. 5,249 (7 {IE{L ) 4 |2

B 3,928 3. 4.

5. 6. 7.

10- 36,425 S
- 18,929 -, &

11. 5964 10.
- 3,192 11.

2. [i3.
12. 818,462 J 14,
- 131,910
14. 3 642 * ' 15.
- 1,813 "\

15. 7,645
- 1,328
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Calculate each row of the puzzle. Fill the results in the column on
the right. Calculate each column of the puzzle. Fill the results in the
row on the bottom.

2 |+ |4 )|+ |3 ]| = 3|+ |1 + | 5| =
5 o o S S S
2 + S . 3 = 1 + 2 + 3 =
5 3 S S S
4 + 5 - 3 = 3 + 3 4 2 -

+ + = g + =
4 - 5 - 1 = 5 + 2 - 2 =
- - - ] [ - I
S s 1 - 4 = 5 + 1 + 2 =
5 3 i S o S S
5 + 2 . 3 = 2 + 2 . 1 =

+ + = + + =
2 + 2 + 4 = 1 + 5 - 3 -
3 I I S Y
3 B 2 + 4 = 5 + 1 + 1 =
T
3 + 3 . 2 = 3 + 4 . 2 -

+ + = + + =

o Name Date
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Subtract to find missing minuend

1 a.

2 a.

350 -

3 a.

4 a.

/750 -

5 a.

6 a.

7 a.

8 a.

9 a.

- 90 =760
= 290
— 40 = 300
= 710
- 80 =60
- 80 =110
- 20 = 860
- 60 =430
— 80 =900
Name

1 b.

2 b.

3 b.

4 b.

5 b.

6 b.

7 b.

8 b.

9 b.

14

630 —

710 —

880 -

380 —

460 —

920 -

570 -

Date

— 40

— 10

600

= 840

620

810

= 580

350

410

830
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Subtract the number at the top of the table from
each of the numbers in the left column.

Subtract 1917
3205
7494
5725
5309

Subtract 8187
8441
8340
9746
9650

Subtract 4367
7750
8434
6108
6151

AR

om

s

.

Subtract 5677
6735
6682
/858
7039

Subtract 8440
9944
8549
9779
8893

Date
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Subtract down and across. Then subtract the totals
you calculated. The answer across should equal the

answer down.

5419 4014

2609 2559

5172 3069

2041 409

5676 4506

2093 1604

9094 5496

5327 3035

5259 2764

2728 1096

Date
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6554 4399

5258 3361

8465 8703 3118 4843

5878 6854 492 3789

6948 4372 8486 8870
106 1890 3168 3355

“‘?{ﬁs’ Name Date
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